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1

. 
Н

ац
р

та
ј 

4 
пр

ав
е 

a
, 

b
, 

c 
и 

d
, 

ак
о 

зн
аш

 д
а 

је
 п

р
ав

а 
а

 н
ор

м
ал

на
 н

а 
пр

ав
у 

b
, п

р
ав

а 
c 

н
ор

м
ал

ан
а 

н
а 

b
, а

 d
 п

ар
ал

ел
нa

 с
а 

а
. З

ат
и

м
 п

оп
ун

и
 

та
бе

лу
 с

та
вљ

ај
ућ

и
 з

на
к 
⊥

 (
ак

о 
су

 п
р

ав
е 

но
р

м
ал

не
) 

и
ли

 ∥
 (

ак
о 

су
 

пр
ав

е 
па

р
ал

ел
не

): 
 

a
 

b
 

c 
d

 
a

 
 

 
 

 
b

 
 

 
 

 
c 

 
 

 
 

d
 

 
 

 
 

 2
. 

Ве
р

а 
је

 р
ођ

ен
а 

де
ве

де
се

то
г 

да
н

а 
20

09
. 

го
ди

не
. 

Ко
ли

ко
 д

ан
а 

је
 

ст
ар

а 
Ве

р
а 

да
на

с 
(5

. м
ар

та
 2

01
1.

 г
од

и
не

)?
 

 3
. 

И
зр

ач
ун

ај
 з

би
р

 и
 р

аз
ли

ку
 н

ај
ве

ћ
ег

 и
 н

ај
м

ањ
ег

 т
р

оц
и

ф
р

ен
ог

 б
р

ој
а 

од
 к

ој
и

х 
св

ак
и 

и
м

а 
зб

ир
 ц

и
ф

ар
а 

8.
  

 4
. 

 У
 к

ва
др

ат
е 

уп
и

ш
и

 б
р

ој
ев

е 
2,

 5
, 7

, 1
3,

 1
6 

и
 2

1 
та

ко
 д

а 
и

зм
еђ

у 
св

ак
а 

дв
а 

бр
ој

а 
ва

ж
и

 н
еј

ед
на

ко
ст

 о
др

еђ
ен

а 
зн

ак
ом

 к
ој

и
 с

то
ји

 и
зм

еђ
у 

њ
и

х.
 

 
 5

. 
У 

зе
м

љ
и

 Н
ен

ад
и

ји
 п

ос
то

ји
 м

ет
ал

ни
 н

ов
ац

 о
д 

1 
јо

ц
ка

, 
2 

јо
ц

ка
, 

5 
јо

ц
ка

, 1
0 

јо
цк

а 
и 

15
 јо

ц
ка

. Х
ар

ал
ам

пи
је

 и
м

а 
7 

но
вч

и
ћ

а 
у 

џе
пу

. А
ко

 
и

м
а 

на
јв

и
ш

е 
2 

м
ет

ал
на

 н
ов

чи
ћ

а 
од

 и
ст

е 
вр

ст
е,

 к
ол

и
ко

 н
ај

ви
ш

е,
 а

 
ко

ли
ко

 н
ај

м
ањ

е 
јо

цк
а 

м
ож

е 
и

м
ат

и
 Х

ар
ал

ам
пи

је
? 

 С
ва

ки
 з

ад
ат

ак
 с

е 
бо

ду
је

 с
а 

по
 2

0 
бо

до
ва

. 
И

зр
ад

а 
за

да
та

ка
 т

р
ај

е 
12

0 
м

и
ну

та
. 

Ре
ш

ењ
е 

св
ак

ог
 з

ад
ат

ка
 к

р
ат

ко
 и

 ја
сн

о 
об

р
аз

ло
ж

ит
и

. 

>
 

>
 

<
 

<
 

<
 

 

Р
Е

Ш
Е

Њ
А

 З
А

Д
А

Т
А

К
А
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 II
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А

З
Е

Д
 

 1
. 

(X
L

V
, 

M
L

2
) 

За
 т

ач
но

 н
ац

р
та

ну
 с

ли
ку

 1
0

 б
о

д
о

в
а

. 
За

 т
ач

но
 п

о
п

уњ
ен

у 
та

бе
лу

 1
0

 б
о

д
о

в
а

. З
а 

св
ак

о 
не

та
чн

о
 п

о
п

уњ
ен

о
 п

о
љ

е 
у 

та
бе

ли
 о

д
уз

ет
и

 1
 

б
о

д
. 

 
     

2
. 

Ка
ко

 ј
е 

31
 +

 2
8 

+
 3

1 
=

 9
0 

то
 з

на
чи

 д
а 

је
 В

ер
а 

р
о

ђ
ен

а 
31

. 
м

ар
та

 2
00

9.
 

го
д

и
не

 (5
 б

о
д

о
в

а
). 

Д
ак

ле
, В

ер
а 

и
м

а 
1 

го
д

и
ну

 1
1 

м
ес

ец
и

 и
 5

 д
ан

а 
и

ли
 3

65
 

+
 3

65
 –

 3
1 

+
 5

 =
 7

04
 д

ан
а 

(1
5

 б
о

д
о

в
а

). 
П

р
и

зн
ав

ат
и

 б
и

ло
 к

о
ји

 т
ач

ан
 

од
го

во
р

. 
 3

. 
(X

L
IV

, 
M

L
2

) 
Н

ај
ве

ћ
и

 т
ак

ав
 б

р
о

ј 
је

 8
00

 (
5

 б
о

д
о

в
а

), 
а 

на
јм

ањ
и 

10
7 

(5
 

б
о

д
о

в
а

), 
п

а 
је

 т
р

аж
ен

а 
р

аз
ли

ка
 6

93
 (

5
 б

о
д

о
в

а
), 

а 
тр

аж
ен

и
 з

би
р

 9
07

(5
 

б
о

д
о

в
а

). 
 4

. 
За

д
ат

ак
 и

м
а 

ви
ш

е 
р

еш
ењ

а.
 З

а 
св

ак
о

 в
аж

и
  

. 
 

Је
дн

о
 р

еш
ењ

е 
је

 2
 <

 5
 <

 7
 <

 2
1 

>
 1

6 
>

 1
3 

(2
0

 б
о

д
о

в
а

). 
 5

. 
Х

ар
ал

ам
п

и
је

 н
ај

ви
ш

е 
м

о
ж

е 
и

м
ат

и
 2

 ∙ 
15

 +
 2

 ∙ 
10

 +
 2

 ∙ 
5 

+
 2

 =
 6

2 
јо

ц
ка

 (1
0

 
б

о
д

о
в

а
), 

а 
на

јм
ањ

е 
2 

∙ 1
 +

 2
 ∙ 

2 
+

 2
 ∙ 

5 
+

 1
0 

=
 2

6 
јо

ц
ка

 (1
0

 б
о

д
о

в
а

). 
          П

р
и

зн
а

в
а

ти
 и

 с
а

 м
а

к
си

м
а

л
н

и
м

 б
р

о
је

м
 б

о
д

о
в

а
 о

ц
е

н
и

ти
 с

в
а

к
о

 т
а

ч
н

о
 

р
е

ш
е

њ
е

 к
о

је
 н

и
је

 у
 к

љ
у

ч
у

. 
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З
Р

Е
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1
. 

П
р

ав
оу

га
он

и
к 

ст
р

ан
и

ц
а 

44
cm

 и
 1

6c
m

 и
зд

ељ
ен

 ј
е 

на
 к

ва
др

ат
е 

об
и

м
а 

16
cm

. К
ол

ик
о 

им
а 

та
кв

и
х 

кв
ад

р
ат

а?
 

 2
. 

Ко
ли

ко
 

и
м

а 
че

тв
ор

оц
иф

р
ен

и
х 

бр
ој

ев
а 

са
 

зб
ир

ом
 

ц
и

ф
ар

а 
4,

 
ко

ји
м

а 
је

 з
би

р
 п

р
ве

 д
ве

 ц
и

ф
р

е 
је

дн
ак

 з
би

р
у 

по
сл

ед
њ

е 
дв

е 
ц

и
ф

р
е?

 
 3

. 
Тр

и
 д

р
уг

а 
Б

об
а,

 Ј
ов

а 
и

 М
ом

а 
ск

уп
љ

ај
у 

сл
и

чи
ц

е 
ф

уд
ба

ле
р

а.
 Б

об
а 

и
м

а 
тр

и
 п

ут
а 

ви
ш

е 
сл

и
чи

ц
а 

од
 Ј

ов
е,

 а
 Ј

о
ва

 д
ва

 п
ут

а 
ви

ш
е 

сл
и

чи
ц

а 
од

 М
ом

е.
 К

ол
и

ко
 с

ли
чи

ц
а 

и
м

а 
св

ак
и

 о
д 

њ
и

х 
ак

о 
Б

об
а 

и
 М

ом
а 

за
је

дн
о 

и
м

ај
у 

21
0 

сл
и

чи
ца

? 
   4

. 
Д

ов
р

ш
и

 п
оп

уњ
ав

ањ
е 

та
бе

ле
 о

дг
ов

ар
ај

ућ
и

м
  

чи
ни

оц
и

м
а 

и
 п

р
ои

зв
од

им
а.

 
   5

. 
Д

ва
 п

р
ав

оу
га

он
и

ка
 и

м
ај

у 
за

је
-

дн
и

чк
и

 
ос

ен
че

ни
 

де
о 

(в
и

ди
 

сл
и

ку
). 

Та
ј 

де
о 

је
 о

бл
и

ка
 п

р
ав

о-
уг

ао
ни

ка
 ч

иј
и

 ј
е 

об
и

м
 6

cm
. 

А
ко

 
је

 
A

B
 =

 4
cm

, B
C

 =
 3

cm
, 

EF
 =

 5
cm

, F
G

 =
 2

cm
, 

 
од

р
ед

и
 д

уж
и

ну
 з

ат
во

р
ен

е 
и

зл
ом

љ
ен

е 
ли

ни
је

 A
B

C
D

EF
G

H
A

. 
  С

ва
ки

 з
ад

ат
ак

 с
е 

бо
ду

је
 с

а 
по

 2
0 

бо
до

ва
. 

И
зр

ад
а 

за
да

та
ка

 т
р

ај
е 

12
0 

м
и

ну
та

. 
Ре

ш
ењ

е 
св

ак
ог

 з
ад

ат
ка

 к
р

ат
ко

 и
 ја

сн
о 

об
р

аз
ло

ж
ит

и
. ∙ 
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 1
. 

(X
L

II
I,

 M
L

2
) 

С
тр

ан
и

ц
а 

кв
ад

р
ат

а 
је

 4
cm

 (
5

 б
о

д
о

в
а

). 
П

р
ав

о
уг

ао
ни

к 
је

 
по

д
ељ

ен
 н

а 
11

 ∙ 
4 

=
 4

4 
кв

ад
р

ат
а 

(1
5

 б
о

д
о

в
а

). 
 

Н
а

п
о

м
ен

а
: 

А
ко

 ј
е 

уч
ен

и
к 

за
д

ат
ак

 р
ад

ио
 п

р
ек

о
 п

о
вр

ш
и

на
 к

ва
д

р
ат

а 
и

 
пр

ав
о

уг
ао

ни
ка

м
, 

а 
ни

је
 т

ач
но

 о
д

р
ед

и
о

 б
р

ој
 к

ва
др

ат
а,

 з
а 

св
ак

у 
та

чн
о 

и
зр

ач
ун

ат
у 

п
о

вр
ш

и
ну

 д
ат

и
 п

о
 5

 б
о

д
о

в
а

. 
 2

. 
Зб

и
р

 п
р

ве
 д

ве
 ц

и
ф

р
е 

је
 2

 (
ка

о
 и

 д
р

уг
е 

д
ве

) 
(5

 б
о

д
о

в
а

) 
и

 т
ак

ви
х 

бр
о

је
ва

 
и

м
а 

6:
 

20
20

, 
20

11
, 

20
02

, 
11

20
, 

11
11

, 
11

02
 

(1
5

 
б

о
д

о
в

а
). 

За
 

св
ак

о 
н

ен
ав

ед
ен

о
 р

еш
ењ

е 
од

уз
ет

и
 2

 б
о

д
а

. 
 

Н
а

п
о

м
ен

а
: М

ак
си

м
ал

ни
м

 б
р

о
је

м
 б

од
о

ва
 б

о
до

ва
ти

 а
ко

 у
че

ни
к 

не
 н

ав
ед

е 
зб

и
р

 ц
и

ф
ар

а,
 а

 н
ав

ед
е 

св
е 

бр
о

је
ве

. 
 3

. 
(X

L
V

, 
M

L
2

) 
А

ко
 М

о
м

а 
и

м
а 

M
 с

ли
чи

ц
а,

 Ј
ов

а 
и

м
а 

2M
 с

ли
чи

ц
а 

(3
 б

о
д

а
), 

а 
Б

об
а 

3J
 о

д
но

сн
о 

6M
 (

3
 б

о
д

а
). 

Д
ак

ле
, 6

М
 +

 М
 =

 2
10

 (
5

 б
о

д
о

в
а

), 
од

ак
ле

 
за

кљ
уч

уј
ем

о 
д

а 
М

ом
а 

и
м

а 
30

 с
ли

чи
ц

а 
(3

 б
о

д
а

), 
Jо

ва
 6

0 
сл

ич
и

ц
а 

(3
 

б
о

д
а

), 
а 

Б
об

а 
18

0 
сл

и
чи

ц
а 

(3
 б

о
д

а
). 

 
 4

. 
(X

L
II

I,
 M

L
4

) З
а 

св
ак

о
 т

ач
но

 у
п

и
са

но
 р

еш
ењ

е 
д

ат
и

 п
о

 2
 б

о
д

а.
 

        5
. 

Д
уж

и
на

 и
зл

о
м

љ
ен

е 
ли

ни
је

 A
B

C
D

EF
G

H
A

 
je

: 
 

2 
∙ (

A
B 

+
 F

G
 +

 F
E 

+
 B

C
) +

 6
cm

 =
 3

4c
m

 
 

(2
0

 б
о

д
о

в
а

). 
       П

р
и

зн
а

в
а

ти
 и

 с
а

 м
а

к
си

м
а

л
н

и
м

 б
р

о
је

м
 б

о
д

о
в

а
 о

ц
е

н
и

ти
 с

в
а

к
о

 т
а

ч
н

о
 

р
е

ш
е

њ
е

 к
о

је
 н

и
је

 у
 к

љ
у

ч
у

. 
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И
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Е
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0

5
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3
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0
1

1
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V

 Р
А

З
Р

Е
Д

 
 

1
. 

О
др

ед
и

 з
би

р
 с

ви
х 

р
аз

ло
м

ак
а 

ко
ји

 с
у 

је
дн

ак
и

 с
а 

1 2
 т

ак
ви

х 
да

 и
м

 је
 

и
м

ен
и

ла
ц

 в
ећ

и
 о

д 
2,

 а
 б

р
ој

и
ла

ц
 м

ањ
и

 о
д 

10
0.

 
 2

. 
Д

ве
 п

р
ав

е 
се

 с
ек

у.
 И

зр
ач

ун
ај

  д
об

и
је

н
е 

уг
ло

ве
 а

ко
 с

е 
зн

а 
д

а 
је

: 
 

а)
 з

би
р

 д
ва

 о
д

 ч
ет

и
р

и
 т

ак
о

 д
о

би
је

н
а 

уг
ла

 7
3°

; 
 

б)
 р

аз
ли

ка
 д

ва
 о

д 
че

ти
р

и
 т

ак
о

 д
о

би
је

н
а 

уг
ла

 7
3°

; 
 

в)
 з

би
р

 т
р

и
  о

д
 ч

ет
и

р
и

 т
ак

о
 д

об
и

је
н

а 
уг

ла
 2

73
°.

 
 3

. 
У 

је
д

н
ак

о
ст

и
 a

 +
 b

 =
 c

 +
 d

 =
 e

 +
 f

 с
ло

ва
 о

зн
ач

ав
ај

у 
р

аз
ли

чи
те

 
п

р
о

ст
е 

бр
о

је
ве

 м
ањ

е 
од

 3
0.

 О
др

ед
и

 б
ар

 је
д

н
о

 р
еш

ењ
е 

за
 с

ло
ва

 a
, 

b
, c

, d
, e

 и
 f.

 
 4

. 
И

ви
ц

а 
ко

ц
ке

 
је

 
a

. 
Ка

да
 

се
 

и
ви

ц
а 

те
 

ко
ц

ке
 

п
о

ве
ћ

а 
за

 
2c

m
, 

п
о

вр
ш

и
н

а 
та

ко
 д

об
и

је
не

 к
о

ц
ке

 ј
е 

за
 9

6c
m

2  в
ећ

а 
о

д
 п

р
во

би
тн

е.
 

И
зр

ач
ун

ај
 п

о
вр

ш
и

н
у 

п
р

во
би

тн
е 

ко
ц

ке
. 

 5
. 

К
о

је
 г

од
и

н
е 

је
 р
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о
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6
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о
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о
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о
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о
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ењ
а 

пр
ос

ти
х 

бр
о

је
ва

 д
ат

и
 

м
ак

си
м

ал
ан

 б
р

о
ј б

о
до
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о
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о
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о
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о
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о
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о
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о
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о
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о
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о
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+
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ћ
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о
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ћ
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о

ст
 з

а 
b

 је
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о
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о
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о

ђ
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о
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о
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о
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о
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о
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о
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о
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љ
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о
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о
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о
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о
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о
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о
кр

ак
о

г 
тр

о
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о
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о
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 ∈
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 ∈
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 ∈
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о
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И
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)

4
2

5
1
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 
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
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 

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3 4
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о
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о
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 ∙ 
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 ∙ 
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о
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о
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 је
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о
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о
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о
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о
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о
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о
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 <
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о
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о
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о
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о
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Т,

 П
ТП

ТП
П

, П
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П
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П
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П
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о
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о
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о
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 c
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о
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би
ти

 4
 и

ли
 –

4 
(4

 б
о
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 c
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